Pay Estimate Created Date: June 16, 2020

Progress Estima 5	ate Number	Contract ID 191018-D01 Prime Contractor Christensen Cor	nstruction Co.		y 16, 2020 Original Contract Amount le 15, 2020 Net Change Order Amount Current Contract Amount	t \$0.00			
Approval Date						By User			
June 16, 2020		Generated and Approved (and should be considered Draft) at the Project Office Level by							
June 17, 2020		Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by							
June 18, 2020			Reviewed and	d Approved at the Cen	tral Office Controllers Office Level by	greggd1			
Original Comp	letion Date	Current Completion Date	Actual	Completion Date	% of Current Contract Amoun	t Complete			
November	1, 2020	November 1, 2020			77.77%				

No Milestones Exist for Contract

Contract Total P	ay For Estimate No. 5			
		This Estimate	Previous	To Date
191018-D01				
	Total Posted Items Pay	\$341,199.73	\$1,273,532.37	\$1,614,732.10
	Gross Item Adjustments	(\$17,483.50)	(\$13,036.69)	(\$30,520.19)
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
			\$1,260,495.68	\$1,584,211.91
Contract Total P	avable This Estimate	\$323 716 23		

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount	
J5M0290	0030	3107002	GRAVEL (A) OR CRUSHED STONE (B) OR CHAT (C)	TONS	\$40.000	33.49	\$1,339.60	
	0040	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$62.450	4,838.05	\$302,136.22	
	0050	4071005	TACK COAT	GAL	\$2.410	4,660	\$11,230.60	
	0070	6161005	CONSTRUCTION SIGNS	SQFT	\$6.000	384	\$2,304.00	
	0120	6208064A	TEMPORARY RAISED PAVEMENT MARKER	EA	\$1.750	2,559.09	\$4,478.41	
	0130	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	SQYD	\$9.050	1,107	\$10,018.35	
	0140	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	SQYD	\$9.050	1,071	\$9,692.55	
Project J5	//0290 - T o	tal					\$341,199.73	
Overall - Total								

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

	Aujusti	nents i nis Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J5M0290	0040	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Adjustment		AC Adjustment Filed in E-Projects			(\$17,483.50)
Total								(\$17,483.50)



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information							
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work								
J5M0290		Resurface	Various	BOONE		ads from 2 miles West of Rou allaway County from Route B t		4 in Callaway County; Route FF in Callawa					
Totals by J	Job Numbe	ers											
J5M0290	Job Numbe	ers			This Estimate	Previous	To Date	٦					
	Poste	ed Item Pay			This Estimate \$341,199.73	Previous \$1,273,532.37	To Date \$1,614,732.10	1					
,	Poste		ients										
	Poste	ed Item Pay		Item Pay	\$341,199.73	\$1,273,532.37	\$1,614,732.10						
	Poste	ed Item Pay s Item Adjustm		Item Pay	\$341,199.73 (\$17,483.50)	\$1,273,532.37 (\$13,036.69)	\$1,614,732.10 (\$30,520.19)						
	Poste Gross Incen	ed Item Pay s Item Adjustm		Item Pay	\$341,199.73 (\$17,483.50) \$323,716.23	\$1,273,532.37 (\$13,036.69) \$1,260,495.68	\$1,614,732.10 (\$30,520.19) \$1,584,211.91						
	Poste Gross Incen Disine	ed Item Pay s Item Adjustm tive	Gross	ltem Pay	\$341,199.73 (\$17,483.50) \$323,716.23 \$0.00	\$1,273,532.37 (\$13,036.69) \$1,260,495.68 \$0.00	\$1,614,732.10 (\$30,520.19) \$1,584,211.91 \$0.00						



Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

91018-D01 J5M0	10290	0001 0001 0001 0001 0001 0001 0001	0010 0020 0030 0040 0050	2022010 2153000 3107002 4020520	REMOVAL OF IMPROVEMENTS SHAPING SLOPES, CLASS III GRAVEL (A) OR CRUSHED STONE (B) OR CHAT (C)	1.00	Order 0.00	Quantity		Approved Qty		generated date)
91018-D01 J5MC	/0290	0001 0001 0001 0001 0001	0020 0030 0040	2153000 3107002	SHAPING SLOPES, CLASS III		0.00	1.00				generated date)
		0001 0001 0001 0001	0030 0040	3107002		34.00		1.00	LS	1.00	\$30,000.00	\$30,000.00
		0001 0001 0001	0040		GRAVEL (A) OR CRUSHED STONE (B) OR CHAT (C)		0.00	34.00	100F	31.26	\$1,158.00	\$36,199.08
		0001		4020520		586.00	0.00	586.00	TONS	525.54	\$40.00	\$21,021.60
		0001	0050		BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	24,986.00	0.00	24,986.00	TONS	21,343.42	\$62.45	\$1,332,896.58
				4071005	TACK COAT	30,750.00	0.00	30,750.00	GAL	21,336.00	\$2.41	\$51,419.76
		0001	0060	6069903	MISC.ADJUSTING GUARDRAIL	598.00	0.00	598.00	LF	598.00	\$34.12	\$20,403.76
		0001	0070	6161005	CONSTRUCTION SIGNS	2,996.00	0.00	2,996.00	SQFT	1,729.48	\$6.00	\$10,376.88
		0001	0080	6161009	FLAG ASSEMBLY	10.00	0.00	10.00	EA	3.00	\$25.00	\$75.00
		0001	0090	6161025	CHANNELIZER (TRIM LINE)	434.00	0.00	434.00	EA	31.00	\$5.00	\$155.00
		0001	0100	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	8.00	0.00	8.00	EA	2.00	\$500.00	\$1,000.00
		0001	0110	6181000	MOBILIZATION	1.00	-1.00	0.00	LS	0.00	\$47,422.00	\$0.00
		0001	0111	6181000	MOBILIZATION	0.00	1.00	1.00	LS	1.00	\$34,364.00	\$34,364.00
		0001	0120	6208064A	TEMPORARY RAISED PAVEMENT MARKER	8,054.00	0.00	8,054.00	EA	7,502.00	\$1.75	\$13,128.50
		0001	0130	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	2,543.00	0.00	2,543.00	SQYD	2,543.00	\$9.05	\$23,014.15
		0001	0140	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	3,469.00	0.00	3,469.00	SQYD	3,085.00	\$9.05	\$27,919.25
		0001	0150	8061019	SILT FENCE	3,160.00	0.00	3,160.00	LF	0.00	\$1.00	\$0.00
		0010	0160	6061010	GUARDRAIL TYPE A	25.00	0.00	25.00	LF	25.00	\$19.25	\$481.25
		0010	0170	6061011A	GUARDRAIL TYPE A, 7 FT. POST, 3 FT 1.5 IN SPACING	188.00	0.00	188.00	LF	188.00	\$36.55	\$6,871.40
		0010	0180	6061060	MGS GUARDRAIL	1,688.00	0.00	1,688.00	LF	1,688.00	\$25.68	\$43,347.84
		0010	0190	6061065	MGS GUARDRAIL, 6 FT. POSTS, 1 FT 6.75 IN. SPACING	25.00	0.00	25.00	LF	25.00	\$60.30	\$1,507.50
		0010	0200	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	2.00	\$2,875.00	\$5,750.00
		0010	0203	6061074	MGS HEIGHT AND BLOCK TRANSITION	4.00	0.00	4.00	EA	4.00	\$602.50	\$2,410.00
		0010	0205	6062303	ASYMMETRICAL TRANSITION SECTION, 6.5 FT. POSTS	4.00	0.00	4.00	EA	4.00	\$495.00	\$1,980.00
		0010	0210	6062400	BRIDGE ANCHOR SECTION (THRIE BEAM)	4.00	0.00	4.00	EA	4.00	\$2,455.00	\$9,820.00
		0010	0220	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	14.00	0.00	14.00	EA	12.00	\$2,775.00	\$33,300.00
		0070	0230	7134000	BRIDGE GUARDRAIL (THRIE BEAM)	78.00	0.00	78.00	LF	78.00	\$455.00	\$35,490.00
		0071	0240	7039902	MISC.Baluster Repair	1.00	0.00	1.00	EA	1.00	\$8,900.00	\$8,900.00
		0071	0250	7039902	MISC.end post modification	4.00	0.00	4.00	EA	4.00	\$6,000.00	\$24,000.00
		0001	5001	6189901	MISC.Mobilization Adjusted for Contract Bond	0.00	1.00	1.00	LS	1.00	\$13,058.00	\$13,058.00
Proje												



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J5M0290

Line Number	ltem Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0030	3107002	GRAVEL (A) OR CRUSHED STONE (B) OR CHAT	6/12/20	6/12/20	17.97	TONS	Section A , rock for driveways and entrances					
			6/15/20	6/16/20	15.52	TONS	Section D, Rock for driveways and entrances					
0040	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	6/8/20	6/9/20	1,147.68	TONS	Westbound lane of Section D					
			6/10/20	6/12/20	1,156.01	TONS	Section D, Eastbound lane.					
			6/11/20	6/12/20	887.14	TONS	Eastbound lane of Section A.					
			6/12/20	6/12/20	772.30	TONS	Section A Westbound Lane					
			6/15/20	6/16/20	874.92	TONS	Westbound Lane of Section B.					
0050	4071005	TACK COAT	6/8/20	6/9/20	1,045.00	GAL	Westbound lane of Section D.					
			6/10/20	6/12/20	1,045.00	GAL	Section D, Eastbound lane					
			6/11/20	6/12/20	958.00	GAL	Eastbound Lane of Section A.					
			6/12/20	6/12/20	784.00	GAL	Section A , Westbound Lane					
			6/15/20	6/16/20	828.00	GAL	Westbound Lane of Section B.					
0070	6161005	CONSTRUCTION SIGNS	6/8/20	6/9/20	160.00	SQFT	Section D signs. Uneven Lane and No Center Line signs					
			6/11/20	6/12/20	128.00	SQFT	No Center Line, Uneven Lanes signs, for Section A.					
			6/15/20	6/16/20	96.00	SQFT	No Center Line, and Uneven Lanes used in Section B.					
0120	6208064A	TEMPORARY RAISED PAVEMENT MARKER	6/8/20	6/9/20	693.00	EA	Westbound lane of Section D. $\ensuremath{Center}(\ensuremath{yellow})$ and edge of lane (white)					
			6/10/20	6/12/20	344.00	EA	Section D, Eastbound edge line (white)					
			6/11/20	6/12/20	542.00	EA	Center and Edge line markings for the Eastbound lane of Section A.					
			6/12/20	6/12/20	271.00	EA	Section A, Westbound white edge marking					
			6/15/20	6/16/20	207.09	EA	Section E correction					
				6/16/20	502.00	EA	Center(yellow) and Edge(white) Westbound Lane in Section B.					
0130	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	6/4/20	6/9/20	316.00	SQYD	Section D					
			6/8/20	6/9/20	305.00	SQYD	Section A Southwest outer road					
			6/15/20	6/16/20	486.00	SQYD	Section B					
0140	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	6/4/20	6/9/20	490.00	SQYD	Section D					
			6/8/20	6/9/20	221.00	SQYD	Section A Southwest outer road didn't do the beginning of project portion (62 sq. yds.)					
			6/15/20	6/16/20	124.00	SQYD	Section B					
				6/16/20	236.00	SQYD	Section C					

The information below this line are details from Line Item agency views. No Agency View Details Exist



Missouri Department of Transportation Contractor's Pay Estimate Summary Line Item Adjustments - All Estimates

Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
0040	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Material		3	May 4, 2020	SYSTEM	(\$729,672.67)		
			- Total				(\$729,672.67)		
	Material - Total						(\$729,672.67)		
	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	MaterialCredit		4	May 18, 2020	SYSTEM	\$729,672.67		
			- Total				\$729,672.67		
	MaterialCredit - Total						\$729,672.67		
	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Other Item Adjustment	ACAD	3	May 4, 2020	woods6	(\$7,156.52)	April 15- May 1 documents filed in E- Projects.	
				4	May 18, 2020	woods6	(\$5,880.17)	AC Adjustment 5/01-5/15 Filed in E- Projects.	
				5	Jun 16, 2020	woods6	(\$17,483.50) AC Adjustment Filed in E-Projects		
			ACAD - Total			(\$30,520.19)			
	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)		MDPA	3	May 4, 2020	bertea1	\$729,672.67	Payment for Exception on QA testing.	
				4	May 18, 2020	woods6	(\$729,672.67)	Repaying from Estimate 0003, all materials are reported.	
			MDPA - Total				\$0.00		
	Other Item Adjustment - Total	Other Item Adjustment - Total							
0040 -	Total						(\$30,520.19)		
Overa	all - Total						(\$30,520.19)		